

Village of Libertyville

Charles Brown Park Detention Basin Restoration and Enhancement

(CBBEL Project No. 18-0265)

Bid Opening: August 29, 2019 @ 10:00 AM

<u>Company</u>	<u>Base Bid</u>	<u>Alternate Bid</u>	<u>Addendum #1</u>	<u>Addendum #2</u>	<u>Bid Bond</u>
Engineer's Estimate	\$ 1,827,625.00	\$ 1,847,625.00	✓	✓	✓
Campanella & Sons	\$ 1,946,253.00	\$ 1,990,600.50	✓	✓	✓
DiMeo Brothers	\$ 2,085,395.00	\$ 2,097,895.00	✓	✓	✓
V3 Construction Group	\$ 2,195,000.00	\$ 2,231,000.00	✓	✓	✓
Earthwerks	\$ 1,646,455.00	\$ 1,682,455.00	✓	✓	✓
Martam Construction	\$ 2,770,747.00	\$ 2,807,017.00	✓	✓	✓
Copenhaver	\$ 2,259,340.00	\$ 2,301,340.00	✓	✓	✓

VILLAGE OF LIBERTYVILLE
Charles Brown Park Detention Basin Restoration and Enhancement
Bid Tabulation
DATE: August 29, 2019

BASE BID				ENGINEER'S ESTIMATE		Earthwerks Land Improvement & Development Corporation		Campanella & Sons Inc.		DiMeo Brothers, Inc.		V3		Copenhaver Construction Inc.		Martam Construction Inc.	
ITEM NO.	ITEMS	UNIT	QUANTITY	UNIT PRICE	TOTAL COST	UNIT PRICE	TOTAL COST	UNIT PRICE	TOTAL COST	UNIT PRICE	TOTAL COST	UNIT PRICE	TOTAL COST	UNIT PRICE	TOTAL COST	UNIT PRICE	TOTAL COST
20100110	TREE REMOVAL (6 TO 15 UNITS DIAMETER)	UNIT	150	\$75.00	\$11,250.00	\$20.00	\$3,000.00	\$14.00	\$2,100.00	\$40.00	\$6,000.00	\$14.00	\$2,100.00	\$17.00	\$2,550.00	\$21.00	\$3,150.00
20100210	TREE REMOVAL (OVER 15 UNITS DIAMETER)	UNIT	100	\$100.00	\$10,000.00	\$40.00	\$4,000.00	\$22.00	\$2,200.00	\$50.00	\$5,000.00	\$22.00	\$2,200.00	\$26.00	\$2,600.00	\$30.00	\$3,000.00
20100500	TREE REMOVAL	ACRE	3.5	\$10,000.00	\$35,000.00	\$10,000.00	\$35,000.00	\$7,500.00	\$26,250.00	\$14,000.00	\$49,000.00	\$7,500.00	\$26,250.00	\$8,300.00	\$29,050.00	\$9,000.00	\$31,500.00
*20101200	TREE ROOT PRUNING	EACH	50	\$100.00	\$5,000.00	\$100.00	\$5,000.00	\$70.00	\$3,500.00	\$120.00	\$6,000.00	\$70.00	\$3,500.00	\$70.00	\$3,500.00	\$132.00	\$6,600.00
20101300	TREE PRUNING (1 TO 10 INCH DIAMETER)	EACH	50	\$75.00	\$3,750.00	\$120.00	\$6,000.00	\$60.00	\$3,000.00	\$105.00	\$5,250.00	\$60.00	\$3,000.00	\$60.00	\$3,000.00	\$120.00	\$6,000.00
20101350	TREE PRUNING (OVER 10 INCH DIAMETER)	EACH	50	\$100.00	\$5,000.00	\$200.00	\$10,000.00	\$180.00	\$9,000.00	\$200.00	\$10,000.00	\$180.00	\$9,000.00	\$50.00	\$2,500.00	\$240.00	\$12,000.00
20200100	EARTH EXCAVATION (HAUL-OFF)	CU YD	9,500	\$50.00	\$475,000.00	\$35.00	\$332,500.00	\$45.75	\$434,625.00	\$42.00	\$399,000.00	\$50.00	\$475,000.00	\$38.00	\$361,000.00	\$120.00	\$1,140,000.00
*20800150	TRENCH BACKFILL, SPECIAL	CU YD	225	\$50.00	\$11,250.00	\$45.00	\$10,125.00	\$81.25	\$18,281.25	\$36.00	\$8,100.00	\$67.00	\$15,075.00	\$35.00	\$7,875.00	\$40.00	\$9,000.00
21101505	TOPSOIL, EXCAVATION AND PLACEMENT, 12"	CU YD	2,500	\$35.00	\$87,500.00	\$10.00	\$25,000.00	\$15.80	\$39,500.00	\$28.00	\$70,000.00	\$25.00	\$62,500.00	\$16.00	\$40,000.00	\$80.00	\$200,000.00
25000100	SEEDING, CLASS 1	SQ YD	1,250	\$3.50	\$4,375.00	\$1.00	\$1,250.00	\$1.00	\$1,250.00	\$1.00	\$1,250.00	\$2.00	\$2,500.00	\$1.00	\$1,250.00	\$0.62	\$775.00
25000115	SEEDING, CLASS 1B (TURF GRASS)	SQ YD	2,000	\$2.50	\$5,000.00	\$1.00	\$2,000.00	\$0.95	\$1,900.00	\$1.00	\$2,000.00	\$3.00	\$6,000.00	\$1.00	\$2,000.00	\$0.60	\$1,200.00
25100630	EROSION CONTROL BLANKET	SQ YD	40,000	\$1.50	\$60,000.00	\$1.75	\$70,000.00	\$1.25	\$50,000.00	\$1.50	\$60,000.00	\$2.50	\$100,000.00	\$1.50	\$60,000.00	\$1.40	\$56,000.00
28000250	TEMPORARY EROSION CONTROL SEEDING	POUND	2,500	\$1.00	\$2,500.00	\$0.10	\$250.00	\$4.50	\$11,250.00	\$5.00	\$12,500.00	\$3.00	\$7,500.00	\$0.01	\$25.00	\$4.56	\$11,400.00
28000400	SILT FENCE	FOOT	3,000	\$5.00	\$15,000.00	\$25.00	\$75,000.00	\$3.30	\$9,900.00	\$3.60	\$10,800.00	\$4.75	\$14,250.00	\$2.00	\$6,000.00	\$4.00	\$12,000.00
*28000510	INLET FILTERS	EACH	5	\$100.00	\$500.00	\$120.00	\$600.00	\$270.00	\$1,350.00	\$150.00	\$750.00	\$110.00	\$550.00	\$40.00	\$200.00	\$200.00	\$1,000.00
28100109	STONE RIPRAP (RR4)	SQ YD	300	\$40.00	\$12,000.00	\$58.00	\$17,400.00	\$111.20	\$33,360.00	\$50.00	\$15,000.00	\$140.00	\$42,000.00	\$85.00	\$25,500.00	\$120.00	\$36,000.00
28200200	FILTER FABRIC	SQ YD	300	\$10.00	\$3,000.00	\$2.00	\$600.00	\$3.00	\$900.00	\$2.00	\$600.00	\$11.00	\$3,300.00	\$3.00	\$900.00	\$2.00	\$600.00
*44201747	CLASS D PATCHES, 8" (SPECIAL)	SQ YD	250	\$50.00	\$12,500.00	\$38.00	\$9,500.00	\$79.50	\$19,875.00	\$52.00	\$13,000.00	\$79.00	\$19,750.00	\$97.00	\$24,250.00	\$58.00	\$14,500.00
*54213669	FLARED END SECTION, RCP, 24" W/ GRATE	EACH	1	\$2,500.00	\$2,500.00	\$1,000.00	\$1,000.00	\$2,310.00	\$2,310.00	\$2,750.00	\$2,750.00	\$2,100.00	\$2,100.00	\$1,340.00	\$1,340.00	\$2,450.00	\$2,450.00
*54213675	FLARED END SECTION, RCP, 30" W/ GRATE	EACH	1	\$3,000.00	\$3,000.00	\$1,800.00	\$1,800.00	\$2,545.00	\$2,545.00	\$3,250.00	\$3,250.00	\$2,300.00	\$2,300.00	\$1,900.00	\$1,900.00	\$2,710.00	\$2,710.00
*54213681	FLARED END SECTION, RCP, 36" W/ GRATE	EACH	1	\$4,000.00	\$4,000.00	\$2,500.00	\$2,500.00	\$2,905.25	\$2,905.25	\$4,500.00	\$4,500.00	\$2,600.00	\$2,600.00	\$2,700.00	\$2,700.00	\$3,110.00	\$3,110.00
*54213687	FLARED END SECTION, RCP, 42" W/ GRATE	EACH	3	\$5,000.00	\$15,000.00	\$3,000.00	\$9,000.00	\$4,103.35	\$12,310.05	\$5,000.00	\$15,000.00	\$3,100.00	\$9,300.00	\$4,900.00	\$14,700.00	\$4,320.00	\$12,960.00
*54213699	FLARED END SECTION, RCP, 54" W/ GRATE	EACH	1	\$6,000.00	\$6,000.00	\$4,000.00	\$4,000.00	\$6,420.00	\$6,420.00	\$7,200.00	\$7,200.00	\$6,000.00	\$6,000.00	\$7,000.00	\$7,000.00	\$6,150.00	\$6,150.00
550A0050	STORM SEWER, RCP, 12"	FOOT	25	\$80.00	\$2,000.00	\$75.00	\$1,875.00	\$110.60	\$2,765.00	\$100.00	\$2,500.00	\$59.00	\$1,475.00	\$75.00	\$1,875.00	\$10.00	\$250.00
550A0120	STORM SEWER, RCP, 24"	FOOT	60	\$125.00	\$7,500.00	\$100.00	\$6,000.00	\$100.35	\$6,021.00	\$125.00	\$7,500.00	\$150.00	\$9,000.00	\$95.00	\$5,700.00	\$40.00	\$2,400.00
550A0140	STORM SEWER, RCP, 30"	FOOT	100	\$140.00	\$14,000.00	\$120.00	\$12,000.00	\$176.00	\$17,600.00	\$150.00	\$15,000.00	\$370.00	\$37,000.00	\$115.00	\$11,500.00	\$105.00	\$10,500.00
550A0160	STORM SEWER, RCP, 36"	FOOT	120	\$165.00	\$19,800.00	\$120.00	\$14,400.00	\$171.15	\$20,538.00	\$175.00	\$21,000.00	\$190.00	\$22,800.00	\$140.00	\$16,800.00	\$115.00	\$13,800.00
550A0180	STORM SEWER, RCP, 42"	FOOT	250	\$195.00	\$48,750.00	\$200.00	\$50,000.00	\$175.55	\$43,887.50	\$200.00	\$50,000.00	\$220.00	\$55,000.00	\$243.00	\$60,750.00	\$150.00	\$37,500.00
550A0200	STORM SEWER, RCP, 54"	FOOT	50	\$250.00	\$12,500.00	\$250.00	\$12,500.00	\$325.95	\$16,297.50	\$320.00	\$16,000.00	\$330.00	\$16,500.00	\$410.00	\$20,500.00	\$260.00	\$13,000.00
55101200	STORM SEWER REMOVAL, 24"	FOOT	250	\$10.00	\$2,500.00	\$10.00	\$2,500.00	\$31.70	\$7,925.00	\$6.00	\$1,500.00	\$110.00	\$27,500.00	\$30.00	\$7,500.00	\$14.00	\$3,500.00
55101400	STORM SEWER REMOVAL, 30"	FOOT	100	\$10.00	\$1,000.00	\$10.00	\$1,000.00	\$36.90	\$3,690.00	\$10.00	\$1,000.00	\$24.00	\$2,400.00	\$70.00	\$7,000.00	\$20.00	\$2,000.00
55101800	STORM SEWER REMOVAL, 42"	FOOT	150	\$10.00	\$1,500.00	\$10.00	\$1,500.00	\$26.90	\$4,035.00	\$18.00	\$2,700.00	\$76.00	\$11,400.00	\$100.00	\$15,000.00	\$32.00	\$4,800.00
55102000	STORM SEWER REMOVAL, 54"	FOOT	20	\$10.00	\$200.00	\$10.00	\$200.00	\$100.75	\$2,015.00	\$30.00	\$600.00	\$110.00	\$2,200.00	\$160.00	\$3,200.00	\$100.00	\$2,000.00
*60203905	CATCH BASINS, TYPE A, 6'-DIAMETER, TYPE 1 FRAME CLOSED LID	EACH	4	\$7,500.00	\$30,000.00	\$6,000.00	\$24,000.00	\$14,360.00	\$57,440.00	\$8,000.00	\$32,000.00	\$14,800.00	\$59,200.00	\$6,700.00	\$26,800.00	\$9,985.00	\$39,940.00
*60203905	CATCH BASINS, TYPE A, 7'-DIAMETER, TYPE 1 FRAME CLOSED LID	EACH	1	\$8,000.00	\$8,000.00	\$8,000.00	\$8,000.00	\$12,575.00	\$12,575.00	\$11,000.00	\$11,000.00	\$18,000.00	\$18,000.00	\$10,700.00	\$10,700.00	\$19,300.00	\$19,300.00
*60203905	CATCH BASINS, TYPE A, 8'-DIAMETER, TYPE 1 FRAME CLOSED LID	EACH	1	\$9,000.00	\$9,000.00	\$9,000.00	\$9,000.00	\$21,055.00	\$21,055.00	\$15,000.00	\$15,000.00	\$20,400.00	\$20,400.00	\$14,000.00	\$14,000.00	\$24,900.00	\$24,900.00
*60203905	CATCH BASINS, TYPE A, 10'-DIAMETER, TYPE 1 FRAME CLOSED LID	EACH	1	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$29,485.00	\$29,485.00	\$36,000.00	\$36,000.00	\$71,500.00	\$71,500.00	\$29,000.00	\$29,000.00	\$44,260.00	\$44,260.00
*66400105	CHAIN LINK FENCE, 4' REMOVAL AND REPLACEMENT	FOOT	25	\$70.00	\$1,750.00	\$75.00	\$1,875.00	\$87.10	\$2,177.50	\$90.00	\$2,250.00	\$69.00	\$1,725.00	\$75.00	\$1,875.00	\$60.00	\$1,500.00
*66400505	CHAIN LINK FENCE, 8' REMOVAL	FOOT	200	\$10.00	\$2,000.00	\$5.00	\$1,000.00	\$82.05	\$16,410.00	\$80.00	\$16,000.00	\$22.00	\$4,400.00	\$22.00	\$4,400.00	\$100.00	\$20,000.00
*66400505	AEGIS II STEEL FENCING, 8' HEIGHT	FOOT	200	\$75.00	\$15,000.00	\$170.00	\$34,000.00	\$82.05	\$16,410.00	\$215.00	\$43,000.00	\$180.00	\$36,000.00	\$189.00	\$37,800.00	\$100.00	\$20,000.00
66900205	SPECIAL WASTE DISPOSAL	CU YD	100	\$150.00	\$15,000.00	\$100.00	\$10,000.00	\$58.50	\$5,850.00	\$35.00	\$3,500.00	\$67.00	\$6,700.00	\$1.00	\$100.00	\$350.00	\$35,000.00
67100100	MOBILIZATION	L. SUM	1	\$75,000.00	\$75,000.00	\$80,000.00	\$80,000.00	\$55,000.00	\$55,000.00	\$180,000.00	\$180,000.00	\$19,000.00	\$19,000.00	\$120,000.00	\$120,000.00	\$95,100.00	\$95,100.00
*X0322881	TREE TRIMMING	EACH	25	\$100.00	\$2,500.00	\$100.00	\$2,500.00	\$150.00	\$3,750.00	\$200.00	\$5,000.00	\$150.00	\$3,750.00	\$30.00	\$750.00	\$240.00	\$6,000.00
*X7010216	TRAFFIC CONTROL AND PROTECTION	L. SUM	1	\$10,000.00	\$10,000.00	\$3,000.00	\$3,000.00	\$10,000.00	\$10,000.00	\$35,000.00	\$35,000.00	\$7,500.00	\$7,500.00	\$341,000.00	\$341,000.00	\$10,000.00	\$10,000.00
*Z0013797	STABILIZED CONSTRUCTION ENTRANCE	SQ YD	250	\$50.00	\$12,500.00	\$15.00	\$3,750.00	\$41.20	\$10,300.00	\$45.00	\$11,250.00	\$66.00	\$16,500.00	\$25.00	\$6,250.00	\$80.00	\$20,000.00
*Z0013798	CONSTRUCTION LAYOUT	L. SUM	1	\$35,000.00	\$35,000.00	\$25,000.00	\$25,000.00	\$11,550.00	\$11,550.00	\$25,000.00	\$25,000.00	\$9,425.00	\$9,425.00	\$34,000.00	\$34,000.00	\$12,500.00	\$12,500.00
*Z0018700	DRAINAGE STRUCTURE TO BE REMOVED	EACH	6	\$2,500.00	\$15,000.00	\$500.00	\$3,000.00	\$1,593.35	\$9,560.10	\$300.00	\$1,800.00	\$320.00	\$1,920.00	\$600.00	\$3,600.00	\$500.00	\$3,000.00
*Z0023201	SEDIMENT CONTROL, SILT CURTAIN	EACH	1	\$1,000.00	\$1,000.00	\$2,500.00	\$2,500.00	\$3,670.00	\$3,670.00	\$15,000.00	\$15,000.00	\$4,600.00	\$4,600.00	\$7,000.00	\$7,000.00	\$5,000.00	\$5,000.00
*Z0064600	SELECTIVE REMOVAL OF NON-NATIVE SHRUBS	ACRE	3	\$5,000.00	\$15,000.00	\$6,000.00	\$18,000.00	\$6,000.00	\$18,000.00	\$6,500.00	\$19,500.00	\$10,700.00	\$32,100.00	\$6,600.00	\$19,800.00	\$11,750.00	\$35,250.00
*NA	AEGIS II STEEL GATE, 8' x 8'	EACH	1	\$5,000.00	\$5,000.00	\$2,900.00	\$2,900.00	\$3,300.00	\$3,300.00	\$8,000.00	\$8,000.00	\$3,000.00	\$3,000.00	\$3,300.00	\$3,300.00	\$4,980.00	\$4,980.00
*NA	MESIC PRAIRIE SEED MIX (SEEDING)	ACRE	1.8	\$3,500.00	\$6,300.00	\$3,200.00	\$5,760.00	\$3,620.00	\$6,516.00	\$4,000.00	\$7,200.00	\$7,800.00	\$14,040.00	\$5,000.00	\$9,000.00	\$3,985.00	\$7,173.00
*NA	MESIC PRAIRIE SEED MIX (INTERSEEDING)	ACRE	4.6	\$3,500.00	\$16,100.00	\$3,200.00	\$14,720.00	\$2,970.00	\$13,662.00	\$3,200.00	\$14,720.00	\$5,400.00	\$24,840.00	\$5,000.00	\$23,000.00	\$3,265.00	\$15,019.00
*NA	WET MEADOW SEED MIX (INTERSEEDING)	ACRE	4.6	\$3,500.00	\$16,100.00	\$5,000.00	\$23,000.00	\$5,600.00	\$25,760.00	\$5,825.00	\$26,795.00	\$6,600.00	\$30,360.00	\$5,000.00	\$23,000.00	\$5,750.00	\$26,450.00
*NA	WOODLAND UPLAND PRAIRIE SEED MIX (SEEDING)	ACRE	1	\$3,500.00	\$3,500.00	\$3,200.00	\$3,200.00	\$3,730.00	\$3,730.00	\$4,250.00	\$4,250.00	\$8,300.00	\$8,300.00	\$5,700.00	\$5,700.00	\$3,850.00	\$3,850.00
*NA	WOODLAND UPLAND PRAIRIE SEED MIX (INTERSEEDING)	ACRE	0														

VILLAGE OF LIBERTYVILLE
Charles Brown Park Detention Basin Restoration and Enhancement
Bid Tabulation
DATE: August 29, 2019

BASE BID				ENGINEER'S ESTIMATE		Earthwerks Land Improvement & Development Corporation		Campanella & Sons Inc.		DiMeo Brothers, Inc.		V3		Copenhaver Construction Inc.		Martam Construction Inc.	
ITEM NO.	ITEMS	UNIT	QUANTITY	UNIT PRICE	TOTAL COST	UNIT PRICE	TOTAL COST	UNIT PRICE	TOTAL COST	UNIT PRICE	TOTAL COST	UNIT PRICE	TOTAL COST	UNIT PRICE	TOTAL COST	UNIT PRICE	TOTAL COST
*NA	SANDBAG COFFERDAM AND SEDIMENT FILTER BAG	L SUM	1	\$10,000.00	\$10,000.00	\$5,500.00	\$5,500.00	\$9,460.00	\$9,460.00	\$10,000.00	\$10,000.00	\$8,200.00	\$8,200.00	\$15,000.00	\$15,000.00	\$5,000.00	\$5,000.00
*NA	SITE DEWATERING	L SUM	1	\$25,000.00	\$25,000.00	\$30,000.00	\$30,000.00	\$10,000.00	\$10,000.00	\$80,000.00	\$80,000.00	\$27,000.00	\$27,000.00	\$85,000.00	\$85,000.00	\$90,000.00	\$90,000.00
*NA	TIDEFLEX CHECK VALVE, 36" (TF-1)	EACH	1	\$7,500.00	\$7,500.00	\$12,000.00	\$12,000.00	\$24,075.30	\$24,075.30	\$30,000.00	\$30,000.00	\$19,700.00	\$19,700.00	\$26,000.00	\$26,000.00	\$15,000.00	\$15,000.00
03 30 00/01	CAST-IN-PLACE STRUCTURAL CONCRETE WALL	L SUM	1	\$15,000.00	\$15,000.00	\$12,500.00	\$12,500.00	\$6,300.00	\$6,300.00	\$6,500.00	\$6,500.00	\$13,500.00	\$13,500.00	\$6,000.00	\$6,000.00	\$4,500.00	\$4,500.00
05 53 00/01	WET WELL STRUCTURE PLATFORM	L SUM	1	\$17,500.00	\$17,500.00	\$49,000.00	\$49,000.00	\$31,000.00	\$31,000.00	\$15,000.00	\$15,000.00	\$51,500.00	\$51,500.00	\$46,000.00	\$46,000.00	\$29,800.00	\$29,800.00
05 53 00/02	FIXED ACCESS LADDER	EACH	2	\$1,500.00	\$3,000.00	\$3,200.00	\$6,400.00	\$4,500.00	\$9,000.00	\$2,000.00	\$4,000.00	\$3,300.00	\$6,600.00	\$2,500.00	\$5,000.00	\$7,750.00	\$15,500.00
07 14 60/01	EXISTING WET WELL SURFACE CLEANING	L SUM	1	\$2,500.00	\$2,500.00	\$1,200.00	\$1,200.00	\$2,400.00	\$2,400.00	\$2,300.00	\$2,300.00	\$1,200.00	\$1,200.00	\$6,200.00	\$6,200.00	\$2,000.00	\$2,000.00
07 14 60/02	EXISTING WET WELL SURFACE AND CRACK REPAIR	FOOT	200	\$50.00	\$10,000.00	\$28.00	\$5,600.00	\$25.30	\$5,060.00	\$25.00	\$5,000.00	\$28.00	\$5,600.00	\$26.00	\$5,200.00	\$20.00	\$4,000.00
07 14 60/03	EXISTING WET WELL COATING	SQ.FT	1,300	\$15.00	\$19,500.00	\$26.00	\$33,800.00	\$27.80	\$36,140.00	\$26.00	\$33,800.00	\$26.00	\$33,800.00	\$24.00	\$31,200.00	\$20.50	\$26,650.00
26 05 19/01	LOW VOLTAGE ELECTRICAL POWER CONDUCTORS AND CABLES	L SUM	1	\$15,000.00	\$15,000.00	\$7,100.00	\$7,100.00	\$2,661.75	\$2,661.75	\$6,500.00	\$6,500.00	\$7,500.00	\$7,500.00	\$14,000.00	\$14,000.00	\$6,200.00	\$6,200.00
26 05 26/01	GROUNDING SYSTEM	L SUM	1	\$1,000.00	\$1,000.00	\$3,100.00	\$3,100.00	\$525.00	\$525.00	\$3,500.00	\$3,500.00	\$3,300.00	\$3,300.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00
26 05 33/01	RACEWAYS AND BOXES FOR ELECTRICAL SYSTEMS	L SUM	1	\$15,000.00	\$15,000.00	\$11,500.00	\$11,500.00	\$17,850.00	\$17,850.00	\$12,500.00	\$12,500.00	\$12,000.00	\$12,000.00	\$19,000.00	\$19,000.00	\$11,000.00	\$11,000.00
26 27 16/01	PUMP CABLE JUNCTION BOX	L SUM	1	\$7,500.00	\$7,500.00	\$5,500.00	\$5,500.00	\$6,037.50	\$6,037.50	\$5,500.00	\$5,500.00	\$2,800.00	\$2,800.00	\$11,000.00	\$11,000.00	\$5,000.00	\$5,000.00
31 20 00/01	DEMOLITION OF EXISTING PUMP STATION EQUIPMENT	L SUM	1	\$15,000.00	\$15,000.00	\$10,900.00	\$10,900.00	\$16,640.00	\$16,640.00	\$3,000.00	\$3,000.00	\$10,500.00	\$10,500.00	\$40,000.00	\$40,000.00	\$1,500.00	\$1,500.00
33 41 00/01	LOW FLOW SUBMERSIBLE PUMP DIP DISCHARGE PIPING AND FITTINGS (6")	L SUM	1	\$5,000.00	\$5,000.00	\$9,800.00	\$9,800.00	\$5,674.00	\$5,674.00	\$7,500.00	\$7,500.00	\$11,000.00	\$11,000.00	\$44,000.00	\$44,000.00	\$14,300.00	\$14,300.00
33 41 00/02	FLAP GATE, PROPELLER PUMP DISCHARGE (16")	EACH	3	\$7,500.00	\$22,500.00	\$5,200.00	\$15,600.00	\$5,557.00	\$16,671.00	\$5,000.00	\$15,000.00	\$5,200.00	\$15,600.00	\$5,000.00	\$15,000.00	\$4,400.00	\$13,200.00
33 41 00/03	ELASTOMERIC CHECK VALVE, LOW FLOW SUBMERSIBLE PUMP (6")	EACH	1	\$2,500.00	\$2,500.00	\$2,800.00	\$2,800.00	\$3,579.75	\$3,579.75	\$4,500.00	\$4,500.00	\$3,000.00	\$3,000.00	\$2,700.00	\$2,700.00	\$3,780.00	\$3,780.00
33 41 00/04	AIR/VACUUM VALVE (1")	EACH	1	\$1,000.00	\$1,000.00	\$1,800.00	\$1,800.00	\$3,148.50	\$3,148.50	\$950.00	\$950.00	\$2,000.00	\$2,000.00	\$1,500.00	\$1,500.00	\$3,350.00	\$3,350.00
33 41 00/05	AIR/VACUUM VALVE (3")	EACH	3	\$2,000.00	\$6,000.00	\$3,000.00	\$9,000.00	\$3,498.00	\$10,494.00	\$4,000.00	\$12,000.00	\$3,500.00	\$10,500.00	\$2,500.00	\$7,500.00	\$3,700.00	\$11,100.00
33 42 00/01	LOW FLOW SUBMERSIBLE PUMP AND ACCESSORIES	L SUM	1	\$15,000.00	\$15,000.00	\$18,000.00	\$18,000.00	\$18,357.05	\$18,357.05	\$25,000.00	\$25,000.00	\$18,000.00	\$18,000.00	\$24,000.00	\$24,000.00	\$15,250.00	\$15,250.00
33 42 00/02	PROPELLER PUMPS AND ACCESSORIES	EACH	3	\$105,000.00	\$315,000.00	\$69,000.00	\$207,000.00	\$75,124.10	\$225,372.30	\$72,500.00	\$217,500.00	\$71,500.00	\$214,500.00	\$80,000.00	\$240,000.00	\$71,400.00	\$214,200.00
33 43 00/01	BYPASS PUMPING	L SUM	1	\$20,000.00	\$20,000.00	\$8,000.00	\$8,000.00	\$200,250.00	\$200,250.00	\$140,000.00	\$140,000.00	\$179,300.00	\$179,300.00	\$15,000.00	\$15,000.00	\$25,000.00	\$25,000.00
46 21 14/01	HDPE BAR SCREEN	L SUM	1	\$25,000.00	\$25,000.00	\$34,000.00	\$34,000.00	\$39,890.00	\$39,890.00	\$10,000.00	\$10,000.00	\$36,000.00	\$36,000.00	\$10,000.00	\$10,000.00	\$50,000.00	\$50,000.00
*INDICATES SPECIAL PROVISION				TOTAL = \$1,827,625.00		\$1,646,455.00		\$1,946,254.80		\$2,084,095.00		\$2,189,560.00		\$2,259,340.00		\$2,770,747.00	
								As-Read	\$1,946,253.00	As-Read	\$2,085,395.00	As-Read	\$2,195,000.00				

VILLAGE OF LIBERTYVILLE
Charles Brown Park Detention Basin Restoration and Enhancement
Bid Tabulation
DATE: August 29, 2019

ALTERNATE BID				ENGINEER'S ESTIMATE		Earthwerks Land Improvement & Development Corporation		DiMeo Brothers, Inc.		Campanella & Sons, Inc.		V3		Copenhaver Construction Inc.		Martam Construction Inc.	
ITEM NO.	ITEMS	UNIT	QUANTITY	UNIT PRICE	TOTAL COST	UNIT PRICE	TOTAL COST	UNIT PRICE	TOTAL COST	UNIT PRICE	TOTAL COST	UNIT PRICE	TOTAL COST	UNIT PRICE	TOTAL COST	UNIT PRICE	TOTAL COST
20100110	TREE REMOVAL (6 TO 15 UNITS DIAMETER)	UNIT	150	\$75.00	\$11,250.00	\$20.00	\$3,000.00	\$40.00	\$6,000.00	\$14.00	\$2,100.00	\$14.00	\$2,100.00	\$17.00	\$2,550.00	\$21.00	\$3,150.00
20100210	TREE REMOVAL (OVER 15 UNITS DIAMETER)	UNIT	100	\$100.00	\$10,000.00	\$40.00	\$4,000.00	\$50.00	\$5,000.00	\$22.00	\$2,200.00	\$22.00	\$2,200.00	\$26.00	\$2,600.00	\$30.00	\$3,000.00
20100500	TREE REMOVAL	ACRE	3.5	\$10,000.00	\$35,000.00	\$10,000.00	\$35,000.00	\$14,000.00	\$49,000.00	\$7,500.00	\$26,250.00	\$7,500.00	\$26,250.00	\$8,300.00	\$29,050.00	\$9,000.00	\$31,500.00
*20101200	TREE ROOT PRUNING	EACH	50	\$100.00	\$5,000.00	\$100.00	\$5,000.00	\$120.00	\$6,000.00	\$70.00	\$3,500.00	\$70.00	\$3,500.00	\$70.00	\$3,500.00	\$132.00	\$6,600.00
20101300	TREE PRUNING (1 TO 10 INCH DIAMETER)	EACH	50	\$75.00	\$3,750.00	\$120.00	\$6,000.00	\$105.00	\$5,250.00	\$60.00	\$3,000.00	\$60.00	\$3,000.00	\$60.00	\$3,000.00	\$120.00	\$6,000.00
20101350	TREE PRUNING (OVER 10 INCH DIAMETER)	EACH	50	\$100.00	\$5,000.00	\$200.00	\$10,000.00	\$200.00	\$10,000.00	\$180.00	\$9,000.00	\$180.00	\$9,000.00	\$50.00	\$2,500.00	\$240.00	\$12,000.00
20200100	EARTH EXCAVATION (HAUL-OFF)	CU YD	9,500	\$50.00	\$475,000.00	\$35.00	\$332,500.00	\$42.00	\$399,000.00	\$45.75	\$434,625.00	\$50.00	\$475,000.00	\$38.00	\$361,000.00	\$120.00	\$1,140,000.00
*20800150	TRENCH BACKFILL, SPECIAL	CU YD	225	\$50.00	\$11,250.00	\$45.00	\$10,125.00	\$36.00	\$8,100.00	\$81.25	\$18,281.25	\$67.00	\$15,075.00	\$35.00	\$7,875.00	\$40.00	\$9,000.00
21101505	TOPSOIL, EXCAVATION AND PLACEMENT, 12"	CU YD	2,500	\$35.00	\$87,500.00	\$10.00	\$25,000.00	\$28.00	\$70,000.00	\$15.80	\$39,500.00	\$25.00	\$62,500.00	\$16.00	\$40,000.00	\$80.00	\$200,000.00
25000100	SEEDING, CLASS 1	SQ YD	1,250	\$3.50	\$4,375.00	\$1.00	\$1,250.00	\$1.00	\$1,250.00	\$1.00	\$1,250.00	\$2.00	\$2,500.00	\$1.00	\$1,250.00	\$0.62	\$775.00
25000115	SEEDING, CLASS 1B (TURF GRASS)	SQ YD	2,000	\$2.50	\$5,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$0.95	\$1,900.00	\$3.00	\$6,000.00	\$1.00	\$2,000.00	\$0.60	\$1,200.00
25100630	EROSION CONTROL BLANKET	SQ YD	40,000	\$1.50	\$60,000.00	\$1.75	\$70,000.00	\$1.50	\$60,000.00	\$1.25	\$50,000.00	\$2.50	\$100,000.00	\$1.50	\$60,000.00	\$1.40	\$56,000.00
28000250	TEMPORARY EROSION CONTROL SEEDING	POUND	2,500	\$1.00	\$2,500.00	\$0.10	\$250.00	\$5.00	\$12,500.00	\$4.50	\$11,250.00	\$3.00	\$7,500.00	\$0.01	\$25.00	\$4.56	\$11,400.00
28000400	SILT FENCE	FOOT	3,000	\$5.00	\$15,000.00	\$25.00	\$75,000.00	\$3.60	\$10,800.00	\$3.30	\$9,900.00	\$4.75	\$14,250.00	\$2.00	\$6,000.00	\$4.00	\$12,000.00
*28000510	INLET FILTERS	EACH	5	\$100.00	\$500.00	\$120.00	\$600.00	\$150.00	\$750.00	\$270.00	\$1,350.00	\$110.00	\$550.00	\$40.00	\$200.00	\$200.00	\$1,000.00
28100109	STONE RIPRAP (RR4)	SQ YD	300	\$40.00	\$12,000.00	\$58.00	\$17,400.00	\$50.00	\$15,000.00	\$111.20	\$33,360.00	\$140.00	\$42,000.00	\$85.00	\$25,500.00	\$120.00	\$36,000.00
28200200	FILTER FABRIC	SQ YD	300	\$10.00	\$3,000.00	\$2.00	\$600.00	\$2.00	\$600.00	\$3.00	\$900.00	\$11.00	\$3,300.00	\$3.00	\$900.00	\$2.00	\$600.00
*44201747	CLASS D PATCHES, 8" (SPECIAL)	SQ YD	250	\$50.00	\$12,500.00	\$38.00	\$9,500.00	\$52.00	\$13,000.00	\$79.50	\$19,875.00	\$79.00	\$19,750.00	\$97.00	\$24,250.00	\$58.00	\$14,500.00
*54213669	FLARED END SECTION, RCP, 24" W/ GRATE	EACH	1	\$2,500.00	\$2,500.00	\$1,000.00	\$1,000.00	\$2,750.00	\$2,750.00	\$2,310.00	\$2,310.00	\$2,100.00	\$2,100.00	\$1,340.00	\$1,340.00	\$2,450.00	\$2,450.00
*54213675	FLARED END SECTION, RCP, 30" W/ GRATE	EACH	1	\$3,000.00	\$3,000.00	\$1,800.00	\$1,800.00	\$3,250.00	\$3,250.00	\$2,545.00	\$2,545.00	\$2,300.00	\$2,300.00	\$1,900.00	\$1,900.00	\$2,710.00	\$2,710.00
*54213681	FLARED END SECTION, RCP, 36" W/ GRATE	EACH	1	\$4,000.00	\$4,000.00	\$2,500.00	\$2,500.00	\$4,500.00	\$4,500.00	\$2,905.25	\$2,905.25	\$2,600.00	\$2,600.00	\$2,700.00	\$2,700.00	\$3,110.00	\$3,110.00
*54213687	FLARED END SECTION, RCP, 42" W/ GRATE	EACH	3	\$5,000.00	\$15,000.00	\$3,000.00	\$9,000.00	\$5,000.00	\$15,000.00	\$4,103.35	\$12,310.05	\$3,100.00	\$9,300.00	\$4,900.00	\$14,700.00	\$4,320.00	\$12,960.00
*54213699	FLARED END SECTION, RCP, 54" W/ GRATE	EACH	1	\$6,000.00	\$6,000.00	\$4,000.00	\$4,000.00	\$7,200.00	\$7,200.00	\$6,420.00	\$6,420.00	\$6,000.00	\$6,000.00	\$7,000.00	\$7,000.00	\$6,150.00	\$6,150.00
550A0050	STORM SEWER, RCP, 12"	FOOT	25	\$80.00	\$2,000.00	\$75.00	\$1,875.00	\$100.00	\$2,500.00	\$110.60	\$2,765.00	\$59.00	\$1,475.00	\$75.00	\$1,875.00	\$10.00	\$250.00
550A0120	STORM SEWER, RCP, 24"	FOOT	60	\$125.00	\$7,500.00	\$100.00	\$6,000.00	\$125.00	\$7,500.00	\$100.35	\$6,021.00	\$150.00	\$9,000.00	\$95.00	\$5,700.00	\$40.00	\$2,400.00
550A0140	STORM SEWER, RCP, 30"	FOOT	100	\$140.00	\$14,000.00	\$120.00	\$12,000.00	\$150.00	\$15,000.00	\$176.00	\$17,600.00	\$370.00	\$37,000.00	\$115.00	\$11,500.00	\$105.00	\$10,500.00
550A0160	STORM SEWER, RCP, 36"	FOOT	120	\$165.00	\$19,800.00	\$120.00	\$14,400.00	\$175.00	\$21,000.00	\$171.15	\$20,538.00	\$190.00	\$22,800.00	\$140.00	\$16,800.00	\$115.00	\$13,800.00
550A0180	STORM SEWER, RCP, 42"	FOOT	250	\$195.00	\$48,750.00	\$200.00	\$50,000.00	\$200.00	\$50,000.00	\$175.55	\$43,887.50	\$220.00	\$55,000.00	\$243.00	\$60,750.00	\$150.00	\$37,500.00
550A0200	STORM SEWER, RCP, 54"	FOOT	50	\$250.00	\$12,500.00	\$250.00	\$12,500.00	\$320.00	\$16,000.00	\$325.95	\$16,297.50	\$330.00	\$16,500.00	\$410.00	\$20,500.00	\$260.00	\$13,000.00
55101200	STORM SEWER REMOVAL, 24"	FOOT	250	\$10.00	\$2,500.00	\$10.00	\$2,500.00	\$6.00	\$1,500.00	\$31.70	\$7,925.00	\$110.00	\$27,500.00	\$30.00	\$7,500.00	\$14.00	\$3,500.00
55101400	STORM SEWER REMOVAL, 30"	FOOT	100	\$10.00	\$1,000.00	\$10.00	\$1,000.00	\$10.00	\$1,000.00	\$36.90	\$3,690.00	\$24.00	\$2,400.00	\$70.00	\$7,000.00	\$20.00	\$2,000.00
55101800	STORM SEWER REMOVAL, 42"	FOOT	150	\$10.00	\$1,500.00	\$10.00	\$1,500.00	\$18.00	\$2,700.00	\$26.90	\$4,035.00	\$76.00	\$11,400.00	\$100.00	\$15,000.00	\$32.00	\$4,800.00
55102000	STORM SEWER REMOVAL, 54"	FOOT	20	\$10.00	\$200.00	\$10.00	\$200.00	\$30.00	\$600.00	\$100.75	\$2,015.00	\$110.00	\$2,200.00	\$160.00	\$3,200.00	\$100.00	\$2,000.00
*60203905	CATCH BASINS, TYPE A, 6'-DIAMETER, TYPE 1 FRAME CLOSED LID	EACH	4	\$7,500.00	\$30,000.00	\$6,000.00	\$24,000.00	\$8,000.00	\$32,000.00	\$14,360.00	\$57,440.00	\$14,800.00	\$59,200.00	\$6,700.00	\$26,800.00	\$9,985.00	\$39,940.00
*60203905	CATCH BASINS, TYPE A, 7'-DIAMETER, TYPE 1 FRAME CLOSED LID	EACH	1	\$8,000.00	\$8,000.00	\$8,000.00	\$8,000.00	\$11,000.00	\$11,000.00	\$12,575.00	\$12,575.00	\$18,000.00	\$18,000.00	\$10,700.00	\$10,700.00	\$19,300.00	\$19,300.00
*60203905	CATCH BASINS, TYPE A, 8'-DIAMETER, TYPE 1 FRAME CLOSED LID	EACH	1	\$9,000.00	\$9,000.00	\$9,000.00	\$9,000.00	\$15,000.00	\$15,000.00	\$21,055.00	\$21,055.00	\$20,400.00	\$20,400.00	\$14,000.00	\$14,000.00	\$24,900.00	\$24,900.00
*60203905	CATCH BASINS, TYPE A, 10'-DIAMETER, TYPE 1 FRAME CLOSED LID	EACH	1	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$36,000.00	\$36,000.00	\$29,485.00	\$29,485.00	\$71,500.00	\$71,500.00	\$29,000.00	\$29,000.00	\$44,260.00	\$44,260.00
*66400105	CHAIN LINK FENCE, 4' REMOVAL AND REPLACEMENT	FOOT	25	\$70.00	\$1,750.00	\$75.00	\$1,875.00	\$90.00	\$2,250.00	\$87.10	\$2,177.50	\$69.00	\$1,725.00	\$75.00	\$1,875.00	\$60.00	\$1,500.00
*66400505	CHAIN LINK FENCE, 8' REMOVAL	FOOT	200	\$10.00	\$2,000.00	\$5.00	\$1,000.00	\$80.00	\$16,000.00	\$82.05	\$16,410.00	\$22.00	\$4,400.00	\$22.00	\$4,400.00	\$100.00	\$20,000.00
*66400505	AEGIS II STEEL FENCING, 8' HEIGHT	FOOT	200	\$75.00	\$15,000.00	\$170.00	\$34,000.00	\$215.00	\$43,000.00	\$82.05	\$16,410.00	\$180.00	\$36,000.00	\$189.00	\$37,800.00	\$100.00	\$20,000.00
66900205	SPECIAL WASTE DISPOSAL	CU YD	100	\$150.00	\$15,000.00	\$100.00	\$10,000.00	\$35.00	\$3,500.00	\$58.50	\$5,850.00	\$67.00	\$6,700.00	\$1.00	\$100.00	\$350.00	\$35,000.00
67100100	MOBILIZATION	L. SUM	1	\$75,000.00	\$75,000.00	\$80,000.00	\$80,000.00	\$0.00	\$0.00	\$55,000.00	\$55,000.00	\$19,000.00	\$19,000.00	\$120,000.00	\$120,000.00	\$95,100.00	\$95,100.00
*X0322881	TREE TRIMMING	EACH	25	\$100.00	\$2,500.00	\$100.00	\$2,500.00	\$200.00	\$5,000.00	\$150.00	\$3,750.00	\$150.00	\$3,750.00	\$30.00	\$750.00	\$240.00	\$6,000.00
*X7010216	TRAFFIC CONTROL AND PROTECTION	L. SUM	1	\$10,000.00	\$10,000.00	\$3,000.00	\$3,000.00	\$35,000.00	\$35,000.00	\$10,000.00	\$10,000.00	\$7,500.00	\$7,500.00	\$341,000.00	\$341,000.00	\$10,000.00	\$10,000.00
*Z0013797	STABILIZED CONSTRUCTION ENTRANCE	SQ YD	250	\$50.00	\$12,500.00	\$15.00	\$3,750.00	\$45.00	\$11,250.00	\$41.20	\$10,300.00	\$66.00	\$16,500.00	\$25.00	\$6,250.00	\$80.00	\$20,000.00
*Z0013798	CONSTRUCTION LAYOUT	L. SUM	1	\$35,000.00	\$35,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$11,550.00	\$11,550.00	\$9,425.00	\$9,425.00	\$34,000.00	\$34,000.00	\$12,500.00	\$12,500.00
*Z0018700	DRAINAGE STRUCTURE TO BE REMOVED	EACH	6	\$2,500.00	\$15,000.00	\$500.00	\$3,000.00	\$300.00	\$1,800.00	\$1,593.35	\$9,560.10	\$320.00	\$1,920.00	\$600.00	\$3,600.00	\$500.00	\$3,000.00
*Z0023201	SEDIMENT CONTROL, SILT CURTAIN	EACH	1	\$1,000.00	\$1,000.00	\$2,500.00	\$2,500.00	\$15,000.00	\$15,000.00	\$3,670.00	\$3,670.00	\$4,600.00	\$4,600.00	\$7,000.00	\$7,000.00	\$5,000.00	\$5,000.00
*Z0064600	SELECTIVE REMOVAL OF NON-NATIVE SHRUBS	ACRE	3	\$5,000.00	\$15,000.00	\$6,000.00	\$18,000.00	\$6,500.00	\$19,500.00	\$6,000.00	\$18,000.00	\$10,700.00	\$32,100.00	\$6,600.00	\$19,800.00	\$11,750.00	\$35,250.00
*NA	AEGIS II STEEL GATE, 8' x 8'	EACH	1	\$5,000.00	\$5,000.00	\$2,900.00	\$2,900.00	\$8,000.00	\$8,000.00	\$3,300.00	\$3,300.00	\$3,000.00	\$3,000.00	\$3,300.00	\$3,300.00	\$4,980.00	\$4,980.00
*NA	MESIC PRAIRIE SEED MIX (SEEDING)	ACRE	1.8	\$3,500.00	\$6,300.00	\$3,200.00	\$5,760.00	\$4,000.00	\$7,200.00	\$3,620.00	\$6,516.00	\$7,800.00	\$14,040.00	\$5,000.00	\$9,000.00	\$3,985.00	\$7,173.00
*NA	MESIC PRAIRIE SEED MIX (INTERSEEDING)	ACRE	4.6	\$3,500.00	\$16,100.00	\$3,200.00	\$14,720.00	\$3,200.00	\$14,720.00	\$2,970.00	\$13,662.00	\$5,400.00	\$24,840.00	\$5,000.00	\$23,000.00	\$3,265.00	\$15,019.00
*NA	WET MEADOW SEED MIX (INTERSEEDING)	ACRE	4.6	\$3,500.00	\$16,100.00	\$5,000.00	\$23,000.00	\$5,825.00	\$26,795.00	\$5,600.00	\$25,760.00	\$6,600.00	\$30,360.00	\$5,000.00	\$23,000.00	\$5,750.00	\$26,450.00
*NA	WOODLAND UPLAND PRAIRIE SEED MIX (SEEDING)	ACRE	1	\$3,500.00	\$3,500.00	\$3,200.00	\$3,200.00	\$4,250.00	\$4,250.00	\$3,730.00	\$3,730.00	\$8,300.00	\$8,300.00	\$5,700.00	\$5,700.00	\$3,850.00	\$3,850.00
*NA	WOODLAND UPLAND PRAIRIE SEED MIX (INTERSEEDING)	ACRE	0.5	\$3,													

VILLAGE OF LIBERTYVILLE
Charles Brown Park Detention Basin Restoration and Enhancement
Bid Tabulation
DATE: August 29, 2019

ALTERNATE BID				ENGINEER'S ESTIMATE		Earthwerks Land Improvement & Development Corporation		DiMeo Brothers, Inc.		Campanella & Sons, Inc.		V3		Copenhaver Construction Inc.		Martam Construction Inc.	
ITEM NO.	ITEMS	UNIT	QUANTITY	UNIT PRICE	TOTAL COST	UNIT PRICE	TOTAL COST	UNIT PRICE	TOTAL COST	UNIT PRICE	TOTAL COST	UNIT PRICE	TOTAL COST	UNIT PRICE	TOTAL COST	UNIT PRICE	TOTAL COST
*NA	SANDBAG COFFERDAM AND SEDIMENT FILTER BAG	L SUM	1	\$10,000.00	\$10,000.00	\$5,500.00	\$5,500.00	\$10,000.00	\$10,000.00	\$9,460.00	\$9,460.00	\$8,200.00	\$8,200.00	\$15,000.00	\$15,000.00	\$5,000.00	\$5,000.00
*NA	SITE DEWATERING	L SUM	1	\$25,000.00	\$25,000.00	\$30,000.00	\$30,000.00	\$80,000.00	\$80,000.00	\$10,000.00	\$10,000.00	\$27,000.00	\$27,000.00	\$85,000.00	\$85,000.00	\$90,000.00	\$90,000.00
*NA	TIDEFLEX CHECK VALVE, 36" (TF-1)	EACH	1	\$7,500.00	\$7,500.00	\$12,000.00	\$12,000.00	\$30,000.00	\$30,000.00	\$24,075.30	\$24,075.30	\$19,700.00	\$19,700.00	\$26,000.00	\$26,000.00	\$15,000.00	\$15,000.00
03 30 00/01	CAST-IN-PLACE STRUCTURAL CONCRETE WALL	L SUM	1	\$15,000.00	\$15,000.00	\$12,500.00	\$12,500.00	\$6,500.00	\$6,500.00	\$6,300.00	\$6,300.00	\$13,500.00	\$13,500.00	\$6,000.00	\$6,000.00	\$4,500.00	\$4,500.00
05 53 00/01	WET WELL STRUCTURE PLATFORM	L SUM	1	\$17,500.00	\$17,500.00	\$49,000.00	\$49,000.00	\$15,000.00	\$15,000.00	\$31,000.00	\$31,000.00	\$51,500.00	\$51,500.00	\$46,000.00	\$46,000.00	\$29,800.00	\$29,800.00
05 53 00/02	FIXED ACCESS LADDER	EACH	2	\$1,500.00	\$3,000.00	\$3,200.00	\$6,400.00	\$2,000.00	\$4,000.00	\$4,500.00	\$9,000.00	\$3,300.00	\$6,600.00	\$2,500.00	\$5,000.00	\$7,750.00	\$15,500.00
07 14 60/01	EXISTING WET WELL SURFACE CLEANING	L SUM	1	\$2,500.00	\$2,500.00	\$1,200.00	\$1,200.00	\$2,300.00	\$2,300.00	\$2,400.00	\$2,400.00	\$1,200.00	\$1,200.00	\$6,200.00	\$6,200.00	\$2,000.00	\$2,000.00
07 14 60/02	EXISTING WET WELL SURFACE AND CRACK REPAIR	FOOT	200	\$50.00	\$10,000.00	\$28.00	\$5,600.00	\$25.00	\$5,000.00	\$25.30	\$5,060.00	\$28.00	\$5,600.00	\$26.00	\$5,200.00	\$20.00	\$4,000.00
07 14 60/03	EXISTING WET WELL COATING	SQ FT	1,300	\$15.00	\$19,500.00	\$26.00	\$33,800.00	\$26.00	\$33,800.00	\$27.80	\$36,140.00	\$26.00	\$33,800.00	\$24.00	\$31,200.00	\$20.50	\$26,650.00
26 05 19/01	LOW VOLTAGE ELECTRICAL POWER CONDUCTORS AND CABLES	L SUM	1	\$15,000.00	\$15,000.00	\$7,100.00	\$7,100.00	\$6,500.00	\$6,500.00	\$2,661.75	\$2,661.75	\$7,500.00	\$7,500.00	\$14,000.00	\$14,000.00	\$6,820.00	\$6,820.00
26 05 26/01	GROUNDING SYSTEM	L SUM	1	\$1,000.00	\$1,000.00	\$3,100.00	\$3,100.00	\$3,500.00	\$3,500.00	\$525.00	\$525.00	\$3,300.00	\$3,300.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00
26 05 33/01	RACEWAYS AND BOXES FOR ELECTRICAL SYSTEMS	L SUM	1	\$15,000.00	\$15,000.00	\$11,500.00	\$11,500.00	\$12,500.00	\$12,500.00	\$17,850.00	\$17,850.00	\$12,000.00	\$12,000.00	\$19,000.00	\$19,000.00	\$11,700.00	\$11,700.00
26 27 16/01	PUMP CABLE JUNCTION BOX	L SUM	1	\$7,500.00	\$7,500.00	\$5,500.00	\$5,500.00	\$5,500.00	\$5,500.00	\$6,037.50	\$6,037.50	\$2,800.00	\$2,800.00	\$11,000.00	\$11,000.00	\$5,000.00	\$5,000.00
27 51 25/01	PROCESS INSTRUMENTATION AND CONTROL SYSTEM	L SUM	1	\$20,000.00	\$20,000.00	\$36,000.00	\$36,000.00	\$12,500.00	\$12,500.00	\$44,347.50	\$44,347.50	\$36,000.00	\$36,000.00	\$42,000.00	\$42,000.00	\$34,950.00	\$34,950.00
31 20 00/01	DEMOLITION OF EXISTING PUMP STATION EQUIPMENT	L SUM	1	\$15,000.00	\$15,000.00	\$10,900.00	\$10,900.00	\$3,000.00	\$3,000.00	\$16,640.00	\$16,640.00	\$10,500.00	\$10,500.00	\$40,000.00	\$40,000.00	\$1,500.00	\$1,500.00
33 41 00/01	LOW FLOW SUBMERSIBLE PUMP DIP DISCHARGE PIPING AND FITTINGS (6")	L SUM	1	\$5,000.00	\$5,000.00	\$9,800.00	\$9,800.00	\$7,500.00	\$7,500.00	\$5,674.00	\$5,674.00	\$11,000.00	\$11,000.00	\$44,000.00	\$44,000.00	\$14,300.00	\$14,300.00
33 41 00/02	FLAP GATE, PROPELLER PUMP DISCHARGE (16")	EACH	3	\$7,500.00	\$22,500.00	\$5,200.00	\$15,600.00	\$5,000.00	\$15,000.00	\$5,557.70	\$16,673.10	\$5,200.00	\$15,600.00	\$5,000.00	\$15,000.00	\$4,400.00	\$13,200.00
33 41 00/03	ELASTOMERIC CHECK VALVE, LOW FLOW SUBMERSIBLE PUMP (6")	EACH	1	\$2,500.00	\$2,500.00	\$2,800.00	\$2,800.00	\$4,500.00	\$4,500.00	\$3,579.75	\$3,579.75	\$3,000.00	\$3,000.00	\$2,700.00	\$2,700.00	\$3,780.00	\$3,780.00
33 41 00/04	AIR/VACUUM VALVE (1")	EACH	1	\$1,000.00	\$1,000.00	\$1,800.00	\$1,800.00	\$950.00	\$950.00	\$3,148.50	\$3,148.50	\$2,000.00	\$2,000.00	\$1,500.00	\$1,500.00	\$3,350.00	\$3,350.00
33 41 00/05	AIR/VACUUM VALVE (3")	EACH	3	\$2,000.00	\$6,000.00	\$3,000.00	\$9,000.00	\$4,000.00	\$12,000.00	\$3,498.00	\$10,494.00	\$3,500.00	\$10,500.00	\$2,500.00	\$7,500.00	\$3,700.00	\$11,100.00
33 42 00/01	LOW FLOW SUBMERSIBLE PUMP AND ACCESSORIES	L SUM	1	\$15,000.00	\$15,000.00	\$18,000.00	\$18,000.00	\$25,000.00	\$25,000.00	\$18,357.05	\$18,357.05	\$18,000.00	\$18,000.00	\$24,000.00	\$24,000.00	\$15,250.00	\$15,250.00
33 42 00/02	PROPELLER PUMPS AND ACCESSORIES	EACH	3	\$105,000.00	\$315,000.00	\$69,000.00	\$207,000.00	\$72,500.00	\$217,500.00	\$75,124.10	\$225,372.30	\$71,500.00	\$214,500.00	\$80,000.00	\$240,000.00	\$71,400.00	\$214,200.00
33 43 00/01	BYPASS PUMPING	L SUM	1	\$20,000.00	\$20,000.00	\$8,000.00	\$8,000.00	\$140,000.00	\$140,000.00	\$200,250.00	\$200,250.00	\$179,300.00	\$179,300.00	\$15,000.00	\$15,000.00	\$2,500.00	\$2,500.00
46 21 14/01	HDPE BAR SCREEN	L SUM	1	\$25,000.00	\$25,000.00	\$34,000.00	\$34,000.00	\$10,000.00	\$10,000.00	\$39,890.00	\$39,890.00	\$36,000.00	\$36,000.00	\$10,000.00	\$10,000.00	\$5,000.00	\$5,000.00
*INDICATES SPECIAL PROVISION				TOTAL =		\$1,847,625.00	\$1,682,455.00		\$1,916,595.00		\$1,990,604.40		\$2,225,560.00		\$2,301,340.00		\$2,739,517.00
								As-Read	\$2,097,895.00	As-Read	\$1,990,600.00	As-Read	\$2,231,000.00				